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10th Model Questions & Answers

Science

PART-I

(12x1=12)

Answerall questions
1.

The value of universal gas constant
a)3.81 mol" K b)8.03mol"K" ¢)1.38mol" K"
Ans: d) 831 mol' K .
2. ich of i i y four
nucleus?
a)adecay b)pdecay c)ydecay d)Neutron decay
Ans: a) a Decay.
3. Thegrammolecular mass of wateris :
a)2g b)lég c¢)18g d)8g
Ans:c)18g.
4. A25% alcohol solution means
).25 mlalcohol in 100 ml of water
b). 25 mlalcohol in 25 ml of water
¢).25 mlalcoholin 75 mlof water
d). 75 mlalcohol in 25 ml of water
Ans: d). 7Smlalcoholin 25 ml of water
5. Theg 1 formula ofalkys
a)CnH2n+2  b)CnH2n  ¢)CnH2n-2
Ans:a)CnH2n+2
Theheartof
a)3 b)d ¢)2 d)5
Ans:a)3.
Whichis the sequence of correct blood flow
a) ventricle - atrium - vein - arteries
b) atrium - ventricle - veins - arteries
¢)atrium - ventricle - arteries - vein
d) ventricles - vein - atrium —arteries
Ans: ¢) atrium - ventricle- arteries - vein

d)8.31 mol" K"

d)Cnn

b

8. Bipolar neurons are found in:
a)retinaofeye  b)cerebralcortex c¢)embryo  d) Respiratory epithelium
Ans: a) retina of eye.

9. Theloss of one or ploidy is called .
a)Tetraploidy ~ b)Aneuploidy  ¢)Euploidy  d) polyploidy

Ans: b) Aneuploidy
10. We can cut the DNA with the help of
i b) icti d 1 c)knife
Ans: b. restriction endonucleases

d)RNAase

11. Green house effect refers to
a) cooling of earth b) trapping of UV ray
¢)cultivationofplant d) warming of earth
Ans: d) warming of earth

12. Match the following:
(1)Sarcoma (i) Excessive hunger
(2)Carcinoma (i) Excessive thirst
(3) Polydipsia  (iii) Connective tis
(4)Polyphagia (iv) Stomach cancer
(@) (1)—iii, (2)~iv, (3) —ii, (4) -1
(b)(1)—iv,(2)—iii, (3) -1, (4)—ii
(€)(1)~1,(2)~iii, (3) ~iv, (4) ~ii
(d) (1) =iv,(2) -1, (3) ~ iv, (4) il
Ans: (a) (1) - i, (2) —iv, (3) - i, (4) -i.

PART-11

(7x4=28)

13. Defineinertia. Giveits classification.
Ans: Anybody would like to continue to be in its state of rest or the state of motion.
Types : inertia of rest, inertia of motion, inertia of direction.

14. Why does the sky appear blue in colour?
Ans: When sunlight passes through the atmosphere the blue colour is scattered toa
greater extent than the red colour.

15. Whatisrust? Give the equation for formation of rust.
Ans: When iron is exposed to moist air, it forms a layer of brown hydrated ferric
oxide onits surface. This compound is known as rust.
4Fe +30,+xH,0—2Fe 0, xll L0 (rust)

16. Whatis respiratory quol
Ans: Respiratory quotient |>th ratioofvolume of carbon dioxide liberated and the
volume of oxygen consumed during respiration.

Volume of CO, liberated

Volume of O, consumed

17. Whatisbolting? How can it be induced artificially?
Ans: Treatment Of Rosette Plants With Gibberell in Induces Sudden Shoot
Elongation Followed By Flowering. This Is Called Bolting.

F Y quotient:

18. Whatareallosomes?

+ Allosomes are which are for the sex of
anindividual
+ They arealso calledas se:

 The 23rd pair of chromosomes in humans are allosomes—Male XY Female XX

" h "

19. Distinguish between -somatic gene therapy and germ line gene therapy
Ans:

Somatic gene therapy
Ttis the
geneinsomatic cells.

[ Itisonlybeneficialtothe Patientbut | The gene can be carried o the

dtothe next next

Germ line gene therapy

of defective | Tt
geneingermeell(eggandsperm).

[

o
L4

Identify the parts A, B, C and Din the given figure.

/ ne, B Intine,
C— Generative Cell,
D - Vegetative nucleus

21. WhatisStage?
Ans:
* Stage is the back i henwe open th hwindow.
+ The background willmost oftenbe white.
+ Youcan change the background colour as you like.
2. A i i i ce.Ifacurrentof
Cumm[ 6A,
Timet = 5minutes=5x 60s=300s
Amount ofheat produced, H = IRt,
1 = 62x5x300.
Hence,H = 54000
PART-III (Tx2=14)

nNo.32

23.Listany
Ans:
1. Lightis a form of energy.

2. Lightalwaystravels alongas

3

ve properties of light?

aightline.

Light does not need any medium for its propagation. It can even travel through

vacuum.

4.The speed of light in vacuumor airis,c = 3 x 10" ms™.

5. Lightisin the form ofwaves,
itis characterized by a wavelength (1) and a frequency (v)

6. Different coloured lighthas different wavelengthand frequency.

7.Among thevisible light, violet lighthas the lowest wavelength and red light has the
highest wavelength.
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a) Whatis meant by electric current?  (2Mark)

b) Name and defineits unit? (2Mark)

Ans:

a) Therate of flow of charges ina conductor. Ifa net charge ‘Q” passes through any
cross section of a conductor in time *t’, then the current flowing through the
conductor is..

‘g

TheSlunitofelectric currentis ampere (A).

+ Thecurrentflowing is said to be one ampere, when acharge
of one coulomb flows across any cross-s: fa conductor, in one s
1 Coulomb

1 Second

a) Whatis amalgam? Give an example.

b) Mention any two uses of copper.

Ans:

(a). An amalgam is analloy of mercury with another metal.

(b). di Itis i ilver formaking coins and

Hence, 1 ampere =

jewels.
What are the methods of preventing corrosion?
Ans:
1.Alloying:
The metals can be alloyed to prevent the process of corrosion. E.g: Stainless Steel
2.Surface Coating:
Iti
a) Galvanization: Itis the process of coating zinc on iron sheets by using electric
current.

b)E Iti hodof coati anothermetal by passing
electric current.

) Anodizing: Itis an surfaceintoa
decorative, durable and corrosion re:

Aluminium is widely used foranodizing process

d)Cathodic P Itis th 1l fametal surface

protected is coated with the metal which s easily corrodible.
The easily corrodible metal is called Sacrificial metal to act as anode ensuring

(iii) Axon :
(a)Th
The end of axon terminates as fine branches which
terminate into knob like swellings called synaptic
knob.

le, elongated, slender

e’
)T

while the cytoplasm is called axoplasm. It carries

impulses away from the cyton.

(©)Th
called myelin sheath which is lunhu coveredby a
layerof Schwanncells called neurilemma. —
(O]
c.\llu.l Nodes of Ranvier. The region 1 between the

nodes is called as internode. Myelin sheath acts as 0{%‘\
insulator and ensures rapid transmission of nerve """

impulses.

(iv)Synapse:

(a) A junction between synaptic knob of axon of one neuron and dendron of next
neuron is Lil"u.l synaptic junction.

[rrr—

neuron through these junctions
from th knob.

withthe release of chemicals known as

Define Elhnoholxny and writeits |mporlance‘
Ans: ¢ dy ofaregion’s

the raditional knowledge of the local culture of people.
+ The term Ethnobotany was coined by J.W. Harshberger in 1895 to include the
study of plants usedby the primitive and aboriginal people .
Importance of Ethnobotan;
+ Itprovides traditional uses of plant.
+ ltgives mlon-nauonahoul certain unknown and known usdul plams
* Th for
phmmax.uloglsls and prmnuunu\ of lurbal medicine.
Tribal I

irpractical uses through

kebark, stem, roots, leaves,

flowerbud. flowers, fruits.seeds, oils. resins, dyes, gum forthetreatmentofdiseases
like diarrhoea, fever, headache, diabetes, jaundice, snakebites, leprosy, etc.

cathodicprotection A ) 31, a) Howare c-wastes generated? (2Mark)
ve defects: Myopia and Hy P b}Whatmhemportxnceofrummterh-neum!," (2Mark)
Ans: Ans:a) *E ichi iled.
Myopia: Hypermeteropia: outdated, non-repairable electrical and ck devi
| s i p‘ — P — Jp + Theyare generated at house ,Industries ect.,
1. | Short Long b) (i) Overcometherapid depletion of ground water levels.
5 | Sh £ m (i) ToMeetthe increase demand of water.
I = Ll 0 eyebal (i) Reduces flood and soilrosion
3. | Distant object cannot | Nearby objectcannot be seen (iv) Water
be seen clearly clearly. hence can be used for drinking purpose.
4. | Focallengthofeyelens | Thedistancebetweeneyelens 32. a) fmnmol 120%viv 2Mack)
is reduced and retina decreases. b) Calculate the pH of 1.0 10~ molar solution of HNO, (2Mark)
Ans:
Enumerate the functions of blood. a) Volumeofaqueoussolution = 200ml
Ans: Volume percentage 20%
i) Transport of respiratory gases (Oxygen and CO,). Volume of solute
i) Transport of digested food materials to the different body cells. Volume percentage = Volume of Solution - '°°
iii) Transport of hormones.
iv) Transport of ni products lik ureaand uricacid. Volume of ethanol 20200 _ 40
Vv)ltisinvolvediny ofthe body and d gainst diseases. 100
vi) Itacts as bufferand also helps in ion of pH and body b) [H+] = 1x10¢
\u)llmam(.\mspmpuwalcrbalanccmlhgbod} pH = —log, [H+]
‘With aneat faneuron. 7I°glll“ * 104] 1o
Aneuron typically fthree : Cyton, Dendritesand Axon. pH = —(log, I-4logl0%)
i) Cyton: pH = 0+4xlog, 10 = 0+4x|=pH=4.
(a) Cyton is also called cell body or perikaryon. It has a central nucleus with -
abundant cytoplasm called neuroplasm. PART-IV (3x7=21)
(b) The cytoplasm has large granular body called Niss! sgranulm and the other cell Answer all Questions. Draw diagram wherever necessary
like 33. a) LS Ni ’s laws of motion? (SMark)
(¢ I\eumnlsdonollmxexheabn]uywdmdu, 2.State the principle of moments.? (2Mark)
Dendrites : Ans:a)l.
(a) These are the numerous branched cy(opl‘asnnc processes that project from the a) Newton’s First Law:
surface of the cell body. They conduct nerve impulsestowardsthecyton. « This law states that every body continues to be in its state of rest or the state of
(b) The branched projections increase the surface area for receiving the signals along astraightli it by I force.

from other nerve cells.

+ It gives the definition of force as wellas inertia.
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b) Newton’s Second Law Of Motion
+ According to this law ¢ force acting on a body is directly propomonnl to xhc

Ans: b) 1. : Asolution must at least be consisting of two components (a solute
and a solvent). Such solutions which are made of one solute and one solvent (two

rateofchangeoflinear fthebody and th
place in the direction of the force™

+ This law helps us to measure the amount of force. So, it is also called as ‘law of

force’.

*F=mxa
¢) Newton’sThird Law Of Motion

+Newton's third law states that ‘for every action, there is an equal and opposite

reaction. They always act on two differentbodies”

+FB=-FA
Ans: a) 2.

When anumber of like or unlike paralle] forces act on arigid body 2
in equilibrium, then the algebraic sum of the moments inthe clock:
isequal tothe algd:rrmc sumofthe moments in meanml(kaueducmon
Momentin clockwi: lion=Moment i iclockwi
Flxdl=F2xd2

(OR)

lled binary solutions.
Ans:b)2.
+ Ourbody works within the pH range of 7.0t07.8.
« pH of blood is ranging from 7.35 to 7.45. Any increase or decrease in this value
leads todiseases.
pHinour digestive system:

+ our stomach produces icacid. Ithelpsin the di; ffood without
harmmuhg stomach.
* During il ion the stomach produces too much acid and thi painand

irritation.

+ pH of the stomach fluid is approximately 2.0.
pH changes as the cause of tooth decay

« pH of the saliva normally ranges between 6.5t0 7.5.

* White enamel coating of our teeth s calcium phosphate, the hardest substance in
ourbody.

* When the pH of the I 5.5, th 1 get

H)L.C th rties of alpha, beta and, diations? (5 Mark s
)] Compare the properties of lpha, beta and gammaradiations? (SMarl) + Toothpastes, which are generally basic are used for cleaning the teeth that

2.Define critical mass? (2Mark)
Ans:b) 1. can neutralise the excess acid and prevent tooth decay.
pHof soil:
[ Properties|  arays | prays | ey | + Inagriculture, the pH of the soil s very important.
What Heliumnucleus | Theyareelectrons | Theyare * Citrus fruits require slightly alkaline soil, while rice requires acidic soil and
arcthey? | (,He*)consisting | (-1e°), basic electromagnetic sugarcane requires neutral soil.
of twoprotonsand | elementary particle | waves consisting of pH of rain water:
| twoneutrons. inallatoms. | photons. | « The pH of rain water is approximately 7, which means that itis neutral
Charge Positively charged ' Negatively charged | Neutral particles. +Ifthe pH of rain water is less than 7, thenit is called acid rain.
particles. Charge | particles. Chargeof | Charge ofcach 35, a)
of eachalpha cach betaparticle=e.  gamma particle= 1.Di iate-Aerobicand A bic respirati (4Mark)
| | particle=+2¢. |  zero. 2. Why are the rings of cartilages found in trachea of rabbit?  (2Mark)
lonising 100time greater | Comparatively Very less 3.Prolactinisa hormoneproducedby . (IMark)
power than rays and low. ionization Ans: a) 1.
10,000 times power. A ‘
greater thany rays. | 1. Takesplaceing foxygen. | Ta inabsenceof oxygen. |
Penetrating | Low penetrating | Penctratingpoweris | They haveavery 2. | Carbohydrate is completely oxidized | Glucose is converted into ethanol (in
power power. greaterthanthatof | high penetrating into carbon dioxide, waterandenergy | plants) or lactate (in some bacteria)
arays. power greater than 3. Lotofenergy is produced Very small Quantity of energy is
| | that of ffrays. | produced
Effectof | Deflectedbyboth | Deflectedbyboth | Theyarenot 4. Its is Complex process and occurs in | Itisasimpler process ‘
electricand | thefields. the fields; but deflected by both three Major steps
magnetic the direction of the fields. 5. CH,0,+60,—6C0,+6H,0+ATP | CH_O, —2C0.+2C,H,OH+(ATP)
field deflection is opposite . p o N . .
S | a)2. Trflc?cyl walls are supported by rings of cartilage which help in the free
Speed “Their speedranges | Theirspeed cango | They travel withthe ppe- i

2)3. Anterior pituitary

from1/10t01/20  upto9/10timesthe  speedoflight. (OR)
timesthe speedof | speed of light. o "
- b)1 p fan alcoholic.  (SMark)
s 2. Whatisadultonset diabetes? (2Mark)
Ans:b)2. Ans:b) 1.
The minimum mas: e material necessary to sustain the chain reaction is called . .
. A) Education and counselling:
N ” . ; . ion and proper will help the to overcome their
34.a) 1.Give thesalient features of “Modern atomic theory™. (SMark) problems and stre accept failures n their life.
2.Calculation molar mass of CO, (2Mark) : -
Ansaa)l. B) Physical activity: 7
+ Anatom is no longer indivisible * yactivities

Isotopes - Atoms of the same element may have differentatomic mass. likereading, music, sports, yoga and meditation.

.
 Isobars -Atoms of different elements may have same atomic masses ©) Seeking help from parents and peer groups:
+ Atificial transmutation- Atoms of one element can be transmuted into atoms of ¢ Whena problematic situation occurs, the affected individuals should seek help

and guidance from parents and peers.

other elements. In other words, atom is no longer indestructible
+ Atoms may not always combine ina simple whole number ratio ¢ This
+ Atomis the smallest particle that takes part ina chemical reaction. thehabit.
. Thc ‘mass of anatom can be converted into energy (E =mc*). D) Medical assistance:
. hould

of

Khelp hol togetrelieved
-, his condition andtolead arelaxedand llife.
=16 * Alcohol de-addictionand rehabili are helpful.
Grammolarmassof CO, = (12x1)+(16x2)=12+32 Ans:b)2.
Grammolarmassof CO, = d4g Obesity is due to genetic factors, physical inactivity, ating habits (overeating) and
(OR) endocrine factors.
b) 1. Whatismeanbybinary solution? (@Mark) Prepared By : J.Vasudevan Msc. B.Ed. DIEd.,
2. How does pH play an important role in everydaylife?  (SMark)

Rayapuram, Tiruvarur District .
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